Name Name Name

Estimate Estimate Estimate

1 3/5452+99x%x126= 1 3/5452+99x12.6= 1 35452 +99x12.6 =
Z |2 25%2x45 =z |» 252%x45 Z | 2 25%%x45
) 198 —4% ) 45 @) 198 —45
= 19.8 — 4.5 = 19.8 — 4.5 =
= = =
— |3 115 — 842 = |3 115 — 847 = |3 115 — 847
{0 0539 Q 0539 @ 0.539

4 /352 + 4.512 4 /352 +4.512 B 4 V352 +451%

098 — 067 098 —0.67 0.98 —0.67
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Name Name Name

Estimate Estimate Estimate

1 {5452+99x12.6= 1 /5452499 x 12.6 = 1 /5452 +9.9 x 12.6 =
> 2 252 X 4.5 _ = 2 252 X 4.5 _ = 2 252 X 4.5 _
o 19.8 — 4.5 o 19.8 — 4.5 o 19.8 — 4.5
= = =
< < <
= = =
= |3 115 — 842 = | 3 115 — 842 = | 3 115 — 8.4
[7)] - = ()] - = o _ =
L 0.539 L 0.539 L 0.539

4 V352 +4.512 B 4 V352 +4.512 B 4 V352 +4.51%

098 —0.67 098 —0.67 098 —0.67
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EXIT TICKET
ESTIMATION

1 /5452499 x12.6=
2 25°x45
19.8 — 45

3 115 - 847
0539

4 352+ 4512
098 —0.67

ANSWER

300

72

150

Who hasn't got it yet

www.mathsbox.org.uk




